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2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 588 73.54 | NS | 000 ~ 000| 1.64 8.80 st 1.00 | 6.00 ~ 6.80 73.54 | TN | .00 ~ 6.80 | 1.64 8.80
3 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 737 93.96 | =h4 | 0.0o0o ~ 000 1.67 8.93 st 1.00 | 5.00 ~ 9.80 93.96 | =hLS | 5,00 ~ 9.80| 1.67 8.93
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 000 ~ 737 93.98 | =hdst | 000 ~ 000 1.67 8.93 st 1.00 | 5.00 ~ 9.80 93.98 | #hL4 | 5.00 ~ 9.80| 1.67 8.93
5 100kN/m%E#BZ5| 1.00 000 ~ 085 112.70 |3mEBZS -~ - - -| 100kN/M%#8Z5 | 1.00 | 1064 ~ 1330 11270 |3mEBZB -~
s 1.00 | 085 ~ 863 100.00 | =4t | ooo ~ 863|212 11.32 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 1330 2.12 11.32
P 100kN/m%E#BZ5 | 1.00 000 ~ 085 112.70 |3mEBZS -~ - - -| 100kN/M%#8Z5 | 1.00 | 1064 ~ 1330 112.70 |3mEBZD -~
s 1.00 | 085 ~ 863 100.00 | =nst | ooo ~ 863|212 11.32 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 1330| 2.12 11.32
- 100kN/m%EBZ5 | 1.00| 000 ~ 058 10869 |3mEEZD -~ - - -] 100kN/mZ#8z5 | 1.00 | 11.19 ~ 1320 108.69 |3mZ#Bz25 -~
s 1.00 | 0.58 ~ 837 100.00 | #nst | 0.00 ~ 837\ 2.03 10.85 st 1.00 | 6.00 ~ 1119 100.00 | =nst | 6.00 ~ 1320| 2.03 10.85
P 100kN/mM%E#BZ5 | 1.00 | 000 ~ 050 107.48 |3mZEEZ 5 -~ - - -] 100kN/ %825 | 1.00 | 10566 ~ 1200 10748 |3m%EiBz% -~
s 1.00 | 050 ~ 829 100.00 | #nlst | 000 ~ 829|215 11.49 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 1200)| 2.15 11.49
9 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 477 59.40 | =hst | 0.00 ~ 000 1.69 9.07 st 1.00 | 6.00 ~ 5.00 59.40 | =h4 | 5.00 ~ 5.00| 1.69 9.07
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~
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